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1 

2 

3 

5 

An artificial satellite moving in a circular 1. 
orbit around the earth has total energy [PE + 
KE] E. Its potential energy is 

(A) -Eo 
(C) Eo 

(A) 2K 

SECTION-I 
MATHEMATICS & SCIENCE 

[AJo 
(C) 0.693 

K 

(A) 38 

1+6+ 11 + 16+ 

(c) 36 

The value of x in the following series: 

(B) 

The half-life period for a zero order reaction 2. yr of át ÍbI fy 3 3Y 
is equal to 

(D) CH, + CH, 

(D) 1.5 E, 

If ^P, ="Pand 

2 E, 

the values of n and r 

(B) (A] 

the other reactants are 

(A) n =2, r=3 

(C) n=3, r = 2 

(D) 0.693 

K[AJ, 

(c) CH, + CH,COCl 

2K 

(A) CH, + NH, (B) CH, + CH,Cl 

+x=148 

(B) 39 

(D) 37 

"C,="Cr+1 then 
(8) n = 5, r= 4 

(A) 

(D) n =4, r =5 

(C 

5 

(A) 

(C) 

(A) 38 

(C) 36 

4 in Friedel Crafts alkylation, besides AlCl,,4 sd HI4 yochleftoru 

(A) 

(B) 

(C) 

-E, 

1 + 6 + 11 + 16 + 

(D) 

E 

(C) 

2K 

[Alo 

Page: 2 

0.693 

K 

CçH, + NH, 

CçH, + CH,CU 

n dR r 

CçH, + CH, 

n = 

(A) n = 2, r = 3 

(B) 

H 

(D) 

CçH, + CH,COCI 

3, r = 2 

(B) 

(D) 

.... 

(B) 39 

(D) 37 

2 E 

}I -

1.5 E, 

[AJ, 
2K 

0.693 

K(AJ, 

Eo 

+ x = 148 

AlCl, 

"c, ='Cr+1 
(B) n = 5, r = 4 

(D) n = 4, r = 5 
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6 

7 

8. 

9 

The nucleus resulting from 

four B-particles is 

successive emission of two a-particles and 

(A) 

(C) 

25pu 
230U 

94' 

92 

(A) 24 

(C) 30 

In a AABC, AB = 

If x=3 - 2V2.then x+ 

(c) 120° 

(B 230 90Th 

(A) 25°C 

(C) 28°c 

(o) 230Ra 
88 

(B) 36 

BC = 6 cm, then the angle B is 
(A) 45° (B) 60° 

(D) 34 

92 

(D) 90° 

U after 

6V3 cm, AC = 12 cm and8. 

minutes and same body cools from 80°C to 
52°C in 10 minutes. What is the 

temperature of surroundings ? 

will be 

(B) 22 °C 

(D) 24 C 

6 238 

(A 

92 

(C) 

7. yf 

(A) 24 

(C) 30 

(A) 

U 

(c) 

(A) 

230pu 

AC = 12 TT 

(C) 

94' 

239U 
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92 

45° 

120° 

AABC 

25°C 

(B 

28°C 

(D) 

(B) 36 

(D) 34 

A body cools from 80 °C to 64 °C in 5| y* Arory 80 c 64C T6 JugI 6 

, AB = 

BC = 6 

(D) 

230 oTh 

(B) 60° 

230. Ra 88 

52°C T# GUST 10 fC EII 

(B) 

B-zut 

(D) 

90° 

6V3 , 

22 °C 

24°C 
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10. The length of a cold storage is double its 10 ya gia TE HqI JHT gi t 
breadth. Its height is 3 metres. The area of 
its four walls (including doors) is 108 m². 
Its volume will be 

(A) 206 m³ 

(C) 316 m² 

water = 1 gm L) 
(A) 45.55 M 

(c) 55.55 M 

2 

(C) K 
4 

horizontal with a kinetic energy K. The 
kinetic energy at the highest point is 
(A) K 

11. The molarity of pure water is (density of 11. E i HrGI ( I ycg = 1 

(B) 216 m3 

(A) 4 cm 

(D) 416 m³ 

(C) 2 cm 

(B) 44.4 M 

(D) 66.66 M 

how much will it penetrate more before 
coming to rest ? 

2 

(A) -10, 15 

(C) 75, 50 

(B) K 

(D) zero 

12 A particle is projected at 60° to the 12. y HU K Tf out Afy 

(B) 1 cm 

(D) 3 cm 

focal lengths is. Their equivalent focal 
3 

length is 30 cm. What are their individual 

focal lengths in cm ? 

(A) 

(C) 

(B) -15, 10 

(D) -75,50 

gm L-') 

206 43 

(A) 45.55 M 

(C) 55.55 M 

(A) K 
2 

316 3 

(C) K 

4 

13 If a body loses half of its velocity on13. uf y# �Hg hT yo ços qR 3 
penetrating 3 cm in a wooden block, then 

(C) 2 cm 

(B) 

Page: 4 

(D) 

2 

3 

(A) -10, 15 

faHIGRT 3T GIY ? 
(A) 4 cm 

(C) 75. 50 

14. A convex lens is in contact with concave14. y Bi 3Ade à HH6 | 
lens. The magnitude of the ratio of their 

216 3 

(B) 44.4 M 

416 

(D) 66.66 M 

(B) K 

(D) r 

(B) 1 cm 

(D) 3 cm 

60° 

(B) 15, 10 

(D) -75, 50 



15. The water droplets in free fall are spherical 15. 

16. 

due to 

(A) Gravity 

(C) Surface tension 

(D) Intermolecular attraction 

IUPAC name of 

(A) 1-Ethoxy propan-2-ol 

(C) Ethoxy pentanol 

(B) 3-Ethoxy propan-1-ol 

5 

(D) 2-hydroxy-3-pentanone 

(c) 3 

5 

17. The number of moles of KMnO, that will 
be needed to react completely with one 
mole of ferrous oxalate in acidic solution is 
(A) 2 

in 5 minutes. 

(B) Viscosity 

(A) 154 

CH, -CH-CH, -0C,H, 

9 

(C) 154 

OH 

12 

cm 

cm 

(B) 

(D) 1 

4 
5 

(B) 154 

6 

(D) 154 

3 

is 

cm 

cm² 

16 

17. 

(A) T0ã 

(0) 3TRI�UH 3I5u 

18. The length of the minute hand of a clock is18. yo yt t fe ATft YÉ aTÉ 14 
14 cm. The area swept by the minute hand 

CH,-CH-CH, -0C,H, 

(a) 1-qetcRft -2-3ieT 
(B) 3-eTRÍ TT13ii 

(D) 2-81580rf-3-¢T 

KMn04 

(A) 2 

5 

(C) 3 

OH 

(A) 

5 

(C) 

(B) gIHGI 

Page:5 

154 

154 

12 

(B) 4 

| IUPAC IH 

(D) 1 

(B) 

(D) 

154 

6 

154 

3 
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19. The work done in placing a charge of 
8 x 10-18 Coulomb on a capacitor of 
capacity 100 microfarad is 

(A) 16 x 10-32 Joule 

(s) 3.1 >x 10-26 Joule 

(C) 4 x 10-1° Joule 

(D) 32 X 10-32 |oule 

area of the triangie 
(A) 7560 m² 

(C) 6570 m² 

(A) 100 watt bulb 

21. A 25 watt -220 volt bulb and a 100 
-220 volt bulb are joined in series and 
connected to the mains. Which bulb will 

glow brighter ? 

(8) 6750 m? 

(D) 5670 m² 

(B) First 25 watt bulb and then 100 watt 

bulb 

(C) Both will glow with same brightness 

(D) 25 watt bulb 

(C) K* 

20 The perimeter of a triangular field is 450 m 20 y# faGR tT I RHIT 450 
and its sides are in the ratio 13: 12 :5. The 

(A) NaCl(ag) 

22 Nessier's reaget is used for the detection of2. 
(A) Cu2+ 

(C) Cu metal 

(B) Nat 

(D) NHÍ 

19. 100 HSSOIbNS yrfr 

23 Which of the following is not a good|23. 
conductor ? 

(B) NaCI(s) 

(o) NaCl (molten) 

8 x 10-i8 alH I 3TGT T 

(A) 

(B) 

(C) 

(D) 

(A) 

(C) 

16 x 10-32 g[eT 

TT FHH Yud �I T4T 13 : 12 : 5 

3.1 x 10-26 v 

(A) 

4 X 10-10 y 

(C) 

32 × 10-32 yd 

watt 21. 25 qic -220 qlec I deg od 100 

(A) 100 qIc q 

Page:6 

7560 

(D) 25 qIc Ê ¢ 

6570 2 

(c) Cu 

Cu2+ 3 
K+ 

(A) NaCl(aq) 

jRT 

(B) 

(D) 

(B) 

6750 ² 

5670 2 

Nat 

(D) NH 

(B) NaCI(s) 

(D) NaCl (tuer g) 

607068 



24 A small metal ball is suspended in an 24. I v5 st te art 
uniform electric field with the help of an 
insulated thread. If a high energy X-ray 
beam falls on it 
(A) The ball will be deflected in the direction 

of field. 

(B) The ball will move to infinity. 

(C) The ball will be deflected opposite to the 
direction of field. 

(D) The ball will not deflected at all. 

25. The rate constant for the first order reaction 25. yery afe t yã sfufh 
is 60 s -1. The time in which it reduce the 

concentration of the reactant to 

is 

(A) 46 seconds 

(B) 4.6 x 10-5 seconds 

(C) 4.6 x 10- seconds 

(D) 2 seconds 

() Malachite 

26 Which ore contains both iron and copper ? 
(A) Cuprite 

(A) 2 

(C) 3i, 2i 

(B) Chalcocite 

27 Root of the equation 3x² + 7ix+6= 0 

(D) Chalcopyrite 

(B) 

1 th 

(D) 

16 

3 

-3i, 
2 

value 

26. 

(A) 46 HGUSH 
(B) 4.6 x 103 

(C) 4.6 >x 10 pUET 

(D) 2 HUSH 

60 s-1 8| �8 HY fI 

(A) 2 

2i51 
(c) 3i, 2i 

Page:7 

27. TÄloZUT 3x²+ 7ix + 6= 0 * HT Er -

16 

1 th 

(B) Te<oI^E 
(D) lecygRge 

(B) 3 

(D) 2 

607068 



28. A bomb of mass 9 kg explodes into 2 pieces 28 9 kq zarHT 

29 

of mass 3 kg and 6 kg. The velocity of mass 3 
kg is 1.6 m/sec. The kinetic energy of mass 6 
kg is 
(A) 2.92 Joule 

(C) 1.92 Joule 

Real value of x and 

(A) -4, 6 

(C) -10, 12 

(A) 1 

(C) 2 m/sec 

(A) 5 

(C) 

released, what is the speed of the bob as it is 
passes through the lowest point in its path ? 

(B) 2 x 9.8 m/sec 

108 

5 

216 

(B) 3.84 Joule 

m/sec 

(D) 9.6 Joule 

(A) 8% 

(C) 10% 

3 +i 

(B) -2, 5 

(D) 7, -7 

{D) 4.43 m/sec 

(B) 1 

(D) 

30. If pendulum bob on a 2 metre string is30. yft s trgelH aia Ì 2 t t st t 

216 

y-1 

3-i 

1 

36 

=i 

(B) 12% 

3 kg str 6 kg 

(D) 2% 

3 kg G@JHT #I t 1.6 

(A) 2.92 T 

(c) 1.92 

29. x-1 

3 +i 

(A) -4, 6 

(C) -10, 12 

31. In a single throw of three dice, the 31. qÌ yoi GUIT pi y 5 
probability of getting a total of 5 

(A) 1 AÀ. 
V2 

(C) 

(A) 

(C) 

(A) 8% 

5 

108 

Page: 8 

+ 

(C) 10% 

5 

216 

yG qi¢ Taae 
0 Gos0 

y- 1 

(B) 3.84 T 
(D) 9.6 y 

(B) -2, 5 

(D) 7. -7 

(B) 

(B) 

V2 x 9.8 

(D) 4.43 . 

(D) 

32 Percentage errors in the measurements of 32. HH 3r I HIyH H9E 2% 
mass and speed are 2% and 3% respectively. 
The error in the estimate of kinetic energy 
obtained by measuring mass and speed will 
be 

. 

1 

216 

(D) 2% 

(B) 12% 

q< 
�cT t | 

I 6 ka 

1 

36 

607068 
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33. If the arcs of same length in two circles33. H| als I4 qrt prã yR 
subtend angles of 60° and 75° at their 

centres, then the ratio of their radii 
(A) 7:8 

(C) 4:7 

(A) Vertical 

34. At the magnetic poles of the earth, a 34. 
compasS needle will be 

(C) Horizontal 

(0) Inclined at 45° to the horizontal 

(A) 1 

35. If tan x + sec x = V3, 

() 

3 

(B) 5:4 

0<x < A, then xis equal to 

(B) 2Tt 

6 

(D) 6:7 

(B) Bent slightly 

(D) Optical activity 

3 

(A) CH,Cl 

such 

(A) Depression in freezing point 

(c) CH,0H 

(D) 5T 

6 

(C) Elevation in boiling point 

(B) Relative lowering in vapour pressure 

that 

(B) CH,CHO 

(A) 

(D) CH,CN 

(C) 4 : 7 

(A) 35EafEr 

35. g 

0<x< 
(A) 

37. Which of the following behaves both as 37. fT 
nucleophile as well as an electrophile ? 

7 : 8 

(c) 

(A) 

(C) 

36. Which of the following is not a colligative36. Htr 3U0YG Ty T8t -
property ? 

3 

Page:9 

6 

(B) 5 : 4 

tan x + sec x = V3: 

CH,Cl 

(D) 6: 7 

CH,OH 

(B) 

(D) 

(B) 

2Tt 

(D) 

3 

5TT 
6 

CH,CHO 

CH, CN 

607068 



3$. Three masses are placed on the x-axis : 30038. t GHH r-314 qe, 300 gm T 

gm at origin, 500 gm at x = 40 cm and 400 

gm at x= 70 çm. The distance of the centre 

of mass from the origin is 
(A) 50 cm 

(C) 40 cm 

(A) 3:7 

(c) 4:5 

(B) 30 cm 

(D) 45 cm 

() Ni(CO), 

(B) 2:7 

(D) 4:9 

fa 4, 500 gm T x = 40 

(B) Al(0C,H,)3 

TT 400 gm 

39. In what ratio does the point (-4, 6) divide 39. fa-3d A(-6, 10) T B(3, -8) 
the line segment joining the points A(-6, 10) 
and B(3, -8)? 

(9 K{Pt(C,H;)CI;] (o) CzH5Mg Br 

(A) 50 41. 

(c) 40 . 

(A) 3: 7 

(C) 4 : 5 

? 

(A) Ni(CO), 

x = 70 

() K[Pt(C,H,) Cl,] 

(0) C,H,Mg Br 

(B) 30 

40 Which of the following does not have a 40. Afafg À fYÀ yI-Hle qy TE 
metal carbon bond ? 

Page: 10 

(D) 45 t. 

q 

(B) 2 : 7 

(D) 4 : 9 

q 

(B) Al(0C, H5), 

I 
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ELECTRONICS ENGINEERING 

41. A material whose resistivity is 0.4 Ohm-41. 
meter, must bea 

(A) insulator 

(C) resistor 

SECTION-I| 

(A) 1 newton metre 
42. 1 volt/metre is the same as 

(8) 1 newton/coulomb 

(A) Freon 

() 1 joule/coulomb (0) 1 metre/coulomb 

43 The acceptor type of impurity is 

(C) None of these 

(C) DC only 

(B) conductor 

(D) semiconductor 

44 An electrolytic capacitor can be used for 
(A) AC only 
(B) both AC and DC only 

(D) a rectifier circuit 

(B) Boron 

(C) 3:1 

(D) Phosphor 

(A) a power amplifier circuit 
(B) a multivibrator circuit 

47 A quartz crystal has 

(C) an oscillator circuit 

(A) medium Q 

(C) high Q 

(0) None of these 

46 The aspect ratio in a TV receiver is 
(A) 4:2 (B) 4 :3 

(D) 3:2 

45 An AC voltage can be converted into a 45. AC voltage Ì V feey qlc 
unidirectional voltage by using 

(B) low Q 

44. 

(D) None of these 

(A) fdgdy 
(c) yft 

47. 

(c) 1 /QelH 

(A) fbH 

(A) hgi AC 

(B) AC 3N DC d 
(C) hd DC 

46. TV Ritar 

(c) af yRg 

H1T - II 

(A) 4: 2 

(C) 3:1 

(A) HEH Q 

Page: || 

(B) Tdo 

(o) 3fTefc6 

(8) 1 IQH 
(0) 1 teRIqATH 

(B) 0H 

3TY¢E yT 
(B) 4 : 3 

(D) 3 : 2 

(B) PTQ 

607068 



48. For high frequencies, capacitor acts as -
(A) Rectifier 

(C) open circuit 

(A) NAND 

(C) NOR 

(A) diode 

(c) triode 

9. The output of a gate is LOW when at least49. c fot y TYT fH4 B 

one of its inputs is LOW. This is true of 

50. The P-N junction behaves like a 

(A) 81.2% 

(C) 37.2% 

(B) Amplifier 
(D) short circuit 

(A) Radiations 

(C) Thermal energy 

(B) OR 

(D) AND 

(B) 

(B) resistor 

(D) tetrode 

(B) 53.9% 

(D) 40% 

(B) All of these 

(D) Electrical energy 

(A) to increase the output power 

(A) fcoI 

51 The maximum eficiency of a half-wave 51. BIF-à feO R sfoGH 3HGI 
rectifier circuit will be 

(C) gel yrge 

to reduce the heat losses in the 
transistor 

(C) to increase the voltage gain of the power 
amplifier 

(A) NAND 

(D) to increase the collector dissipation 
rating of the transistor 

(C) NOR 

(C) qris 

(A) 81.2% 

(C) 37.2% 

52 The function of a solar collector is of|52. iyIS I o ÌN Gt qGI 
converting solar energy into 

(B) yqtcs 

(D) yrqg 

(A) fafoU 

(B) OR 

Page: 12 

(D) AND 

(B) gfrT 

(D) s 

53. Heat sinks are used in power amplifier53. ufI Hqyo yfyg i GyuT circuits 

(B) 53.9% 

(D) 40% 

(8) ft 

607068 



54. Which addition is correct ? 
(A) 

(C) 

0 1 0 
1 1 1 1 

1 1 1 

0 10 1 

1 

(A) 0 k 

1 

(A) has a high resistance 

(C) a reverse biased 

(c) 273 °k 

(B) has a low resistance 

(A) nickel 

0 

(C) None of these 

(B) 

charging will be 
(A) Black 

(C) Greyish 

(D) 

(A) an emitter 

57. A magnet does not attract 

0 

(D) None of these 

56. The Ge crystal behaves as an insulator at 

1 1 0 

1 
1 1 

0 1 0 1 

1 11 1. 
10 1 00 

(D) 5 °k 

(D) None of these 

(B) iron 

1 1 
0 1 

(B) None of these 

1 0 

55. In a transistor with normal bias, the emitter 55. ciNCR HH|Y AH 
junction -

(D) copper 

(D) Yellowish 

(C) an emitter and a cathode 

(B) Chocolate 

(B) a cathode 

(A) 

(C) 

1 1 1 1 

111 1 0 

0 1 0 1 

0 1 0 1 

1 11 
1 1 

(D) 7À 

(A) 0 k 

(C) 273 k 

0 0 1 

(A) plT 

() Ft 

(4) B 

(B) 

Page: 13 

(D) 

58. The colour of tve plate of a battery after 58. e Ì gIHE c 1 gifo 

0 1 0 1 
1 1 1 1 

1 1 0 10 

1 

(B) 

0 1 0 1 

(D) 

(D) 5 °k 

1 
10 1 00 

(B) 3414T (ÌS) 

59. The metal from which the electrons are 69. ylg foIT ERI ScIGT SIi ad 
emitted is called 

1 1 

e 
gT 

(B) es 

607068 



60. To generate PCM, the signal is sampled and 60. PCM 
converted into 
(A) PWM 

(C) PPM 

61. One farad is the same as 

() one joule/coulomb 

(A) one coulomb/volt (B) one joule/volt 

(D) one coulomb/joule 

(B) PDM 

62. Resistivity is a property of a senmiconductor 62. 
that depends on 

(D) PAM 

(A) the shape and atomic nature of the 
semiconductor 

(B) the atomic nature of semiconductor 
(c) the shape of the semiconductor 
(D) the length of the semiconductor 

63. For satellite the source of energy is 
(A) Cryogenic storage (B) Edison cels 

(C) Fuel celis (D) Solar cells 

(C) 4 

64. The radix of hexadecimal system is 
(A) 8 

(C) 1012 farads 

65. A capacitance of one microfarad equals 
(A) 10-12 farads (B) 106 farads 

(C) recombination 

(B) 2 

(D) negative resistance 

(D) 16 

66. The operation of a JFET involves 
(A) a flow of minority carriers 

(D) 10-6 farads 

(B) a flow of majority carriers 

63. 

(A) PWM À 

(A) 8 

(A) 

(C) pPM 

(C) 4 

(C) 

10-12 org 

1012 S 

(c) yfv 

Pae: 14 

(B) 

(B) PDM 

(B) 2 

(D) 

(D) PAM 

(D) 16 

foy, fRrT 

(D) y pclTH/ 

66. JFET 0TT À IfAt 

106 bg 

10-6 G 

(D) EUHO gfT 

607068 



67. The NOR gate is OR gate followed by 
(A) NOT gate (B) NAND gate 

(C) AND gate 

65. The specific gravity of the electrolyte is 68. 
measured by 

(A) Hydrometer 
(C) Barometer 

73. 

(A) joule-second 
69. The unit of electric energy is 

(c) volt-ampere 

(C) an octal number 

(D) None 

(A) ampere-volt 

70. A group of 8 bits is known as 
(A) a byte 

(C) ampere-hour 

(B) Lactometer 

(D) cell tester 

(A) amp. turn 

(C) Newton 

(B) kWh 

71. The capacity of a battery is expressed in 

(D) watt 

(B) a bit 

(D) a nibble 

72 The unit of magnetic flux is 

(B) Volts 

(D) percentage 

(B) Coulombs 

(D) Weber 

The current IcRo flows in 
(A) the collector and base leads 

(B) the emitter, base and collector leads 

() the emitter and base leads 

67. NOR gate , 3TR OR gate qIG 

(D) the emitter and collector leads 

(A) NOT e 
(C) AND te 

(A) 3ISSfer 

(A) go-tès 
(c) aioe-qfyur 

70. 8 bits 98 

(a) yfArgR-aTec 
(C) yfrqeT-EUI 

(C) c 

(8) NAND 

Page: 15 

(8) 
(D) 

(D) qT 

(B) fbl-a1e-ucI 

HE 
(B) 

-

(B) 

(D) r 

ter 
qt 

(B) qic 
(D) yfIT 

fae 

(B) Jo, sr iTSE �is 
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74. With the help of a computer, we can 
(A) transmit message to a distant place 

(B) amplify very weak signals 

(C) see the details of photographs 

(D) perform mathematical calculations very 
fast 

75. The material which is not a semiconductor is75. yGI 
(8) gallium-arsenide (A) selenium 

(C) silica 

76 The AM broadcast band is given by 
(A) 10 kHz to 30 kHZ 

(B) 500 kHz to 1500 kHz 

(C) 3 to 30 MHZ 

the charges ? 
(A) 

(D) Carborandium 

(B) 0 
(C 

(D) 

(D) 30 to 300 MHz 

(A) both the junctions are reverse-biased. 

74 

7E A transistor is operating in the active region. 78. 
Under this condition 

(B) both the junctions are forward-biased. 
(C) emitter-base junction is reverse-biased and collector base junction is forward 

biased. 

(D) emitter-base junction is forward-biased and collector base junction is reverse biased. 

(A) ffH 

(C) frfrT 

77 Which of the following pairs of arrows show77. fA ò urt tH Ê YI� 3dI 
the wrong direction of the forces between 

76. AM IGOIE ug BGT 
(A) 10 kHz 

(B) 500 kHz 

(C) 

tgo È BI -

(C) 

Page: 16 

(B) fer-3RIES 
(D) 1aÍrfsyH 

30 kHz 

1500 kHz 

3 t 30 MHz 

(0)-’ 

(D) 30 300 MHz 

60706N 



79. The channel of JFET 
(A) may consists of a p-type or n-type 

material 

(B) consists of p-type material only 

(C) consists of n-type material only 
(D) None of these 

(A) electric bulb 

(C) loudspeaker 

80. One of the examples of an active device is80. Ifshy yfi V GGIENUI 
afan 

(D) SCR (Silicon Controlled Rectifier) 

81. Donor type impurities 
(A) Create holes 

(B) can be added to germanium 

(C) must have only five valence electrons 

(B) transformer 

(D) must have only three valence electrons 

2 Red ight is used in traffic signais, because 
(A) red light disperses least. 
(B) animals can identify red. 

(9 red is the symbol of danger. 
(D) colour of blood is red. 

83. The VHF band is 

(A) 300 Hz-3 kHz 

(C) 30- 300 Hz 

84. In 

(A) None of these 

(c) NOT Operation 

(B) 3-30 kHz 

(D) 30-300 MHZ 

79. JFET I 

IAptype I ntype yei Ì HOGI 

(B) OR operation 

(D) AND operation 

(B) haci ptype 

(C) I3GTaT 

83. VHF 

(0) SCR (ftfero Afaa fo) 

ug 

(B) zÍHSTfr 

(A) 300 Hz-3 kHz ) 3-30 kHz 

(C) 30-300 Hz 

Boolean algebra, the bar' sign (- & T TT R fET (-) AIdT 
indicates 

Page: 17 

(D) 30-300 MHz 

(A) gTÀ É 10 (B) OR dIT 
(C) NOT 3iTRYT (D) AND iqRYT 

607068 



85. The unit of power of lens is 
(A) diopter 

(C) M-l 

90 

(A) Henry 
86. What is unit of charge ? 

(C) Farad 

of electrolyte 
(A) does not change 
(C) decreases 

be 

(A) 64 uF 

(C) 32 uf 

87. During charging of a battery, specific gravity 87. �ct t o H44 Sellse 

(A) 1000 

S8. Two capacitors of capacity 32 uf each are 88. 
connected in series, the total capacity will 

(C) 1010 

(B) centimetre 

(c) 15% 

(D) metre 

known as 

(B) Volt-ampere 

(A) Resistors 

(D) Coulomb 

(B) Ohmic components 

(B) increases 

(D) None of these 

(D) None of these 

The efficiency of the solar cell is about 
(A) 60% 

(B) 16 uF 

(D) 8 uf 

(B) 1110 

89. Decimal number 10 is equal to binary 89. GÍ4e r 10, I5TT T4R o HHT number 

(D) 1001 

(B) 40% 

85. 

(D) 25% 

(C) Non-Ohmic components 

(C) 

90. 

(A) 64 F 

(c) 32 HF 

91. Components which obey Ohm's law is91. gc uÌ 3aT 
(A) yftT 

(A) 1000 

(C) 1010 

(A) 60% 

(8) rfer 

(C) 15% 

(D) fr 

(B) dtee-qfr 
(D) 

(B) 16 HF 

(D) 8 WF 

(B) 110 

(D) 1001 

(B) 40% 

(D) 25% 

fH q p pY -
(B) 3faG Hcf 



92 A pico farad is 
(A) 10-12 farads 

(C) 10-6 farads 

93. The Light-Emitting Diode (LED) 
(A) depends on the recombination of holes 

and electrons 

(C) made from silicon 

(B) gives a light output which increases with 

increase in temperature 

(B) 10-16 farads 

(D) uses a reverse-biased junction 

(D) 10-9 farads 

94. An inverter gate can be developed using 

(B) a transistor 

(A) a resistance and a capacitance 

(C) two diodes 

(D) an inductance and a capacitance 

(A) gas 
(c) vacuum 

96. Electronics is the branch of engineering95. 
which deals with flow of electrons through 

(B) All of these 

96. In a PNP transistor, electrons flow 

(D) semiconductor 

(A) out of the transistor at the emitter and 
base leads 

(B) out of the transistor at the collector and 
base leads 

(C) into the transistor at the emitter and base 
leads 

(A) thyratron 

(D) into the transistor at the collector and 
base leads 

97. An example of a solid-state device is a 

(C) Pentode 

(B) Field-effect transformer 

(D) triode 

94. 

(A) 

(C) 

10-12 s 

93. LED (iSE gAfI SIs) 

10-6 RS 

(B) ya ifeT 

(A) 

(c) t srs 

(C) 

(c) e 

(B) 
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(D) 

10-16 g 

10-9 bRG 

(B) t 
(D) farE 

(D) qri` 

607068 



98. The ripple factor in case of a full-wave98. 

rectifier 

(A) 0.48 

(C) 0.50 

on this resistor should be 

(B) 1.21 

(D) 1.0 

(A) yellow, violet, brown and silver 

(8) yellow, violet, orange and silver 

99. We need a resistor of value 47 ko with + 5%99. 47 ko + 5% Ir yfa I 

tolerance. The sequence of the colour band 

() yellow, violet, yellow and gold 
(D) yellow, violet, orange and gold 

100. The term bit means 

(A) a small amount of data 

(B) 1 or0 

(9 a binary digit 

(A) 0.48 

(D) both 1 or 0 and a binary digit 

(C) 0.50 

(a) iel, 
(B) tI, 

100. fC HcigE 

(B) 1 T 0 

(B) 1.21 
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(D) 1.0 

, 
, 4RI ÅR afct (silver) 

(0) gil, ~, rft sir T (gold) 

ft sr aid (silver) 

o0704 
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